TYP
—————

o—— 44°

|— 51° Max

317 MAX ——-j

1.95" THICK,

14 DENSITY
EXPANDED POLYSTYRENE FOAM
INSULATION LAMINATED TO BOTH

CLOPAY MODEL 3200 (24 GA MIN EXT SKIN) (1) INTER. HINGE ON DOORS ] RV DATE DESCRIPTION

CLOPAY MODEL 3220 (20 GA MIN EXT SKIN) g: E%GQR?:';P(ET}D "‘:TEF:E;.WH'”GES . S:J'(':%KNE OGS — 10| 08/2012 REVISED FOR TDI,

HOLMES MODEL 240, 240G (24 GA MIN EXT SKIN) FRONT AND BACK SKIN OF DOOR 11| 06/2013 REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED FV DIMEN.
12| 08/2016 REMOVED WIND SPEED TABLE.

ILLUSTR f

SEE "JAMB ATTACHME NT

STOP MOULDING BY DOOR
INSTALLER (TO SUIT)

TIOS e g v s

:::::::
aaaaaaa

T _— EXTERIOR AND INTERIOR SKINS. e A & A MIN. GALV. STEEL END STILE
ALUMINUM FULL /_‘ {END STILES HELD BY HINGE
‘TTSE'OQEE‘%DE;W 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET | |_SCREWS) |
F M3 ATTACHED W/4 §14X5/8" SHEET METAL SCREWS.
.a.ﬁ.-'.a.lL.a.BLE_{UB DOOR HEIGHT A NUMBER OF
::LSS?.;L ;,.-"1:_ SECTIONS
). FULL 14 GA. GALV. STEEL ROLLER (END) HINGE. UP 1O B —07 L]
VSION SECTIONS [ L / EACH FASTENED TO END STILES W/(4) i T el |
REINFORCEMENT # #14x5/8" SHEET METAL SCREWS AND 12'~3" THRU 14-0Q" 7
| " - 14 =3 THRU 16 -0 B SEE JaMB 14 GA. GALY. STEEL INTER. HINGE
2&%1%‘? Ao WASK LT SERE JAPEING SCRENS, T6—5 THRU 160" | § ATTACHMENT FASTEMED TO INSIDE SKIN W/{4) EACH
= e TRATIONS 14x5,/8" SHEET METAL SCREWS.
: 2-1/4" TALL x 24 GA. GALV. STEEL U-BAR. ONE WAL SRGTRE RN, e #14xs/
TONGUE AND PER DOOR SECTION, EXCEPT TWO ON BOTTOM DETAILS. 14 GA. GALV. STEEL ROLLER HINGE FASTENED
i SECTION. ATTACHED W/(2) 1/4"x3/4" SELF i . T0 END STILES W/(4) EACH #14x5/8" SHEET
N A A A iy TAPPING SCREWS AT EACH HINGE LOCATION. i METAL SCREWS,
‘ —o" [100" 2" 10 BALL SHORT STEM STEEL ROLLER WITH
27 GA. STEEL INTERIOR SKIN WITH GALVANIZED, -0 i112 JAMB CONFIGURATION STEEL L
BAKED-ON PRIMER AND A BAKED-ON POLYESTER ETU KT REPARATION OF JAMBS BY OTHERS.
PAINTED TOP COQAT. 15 —01172]
SECTION A—A 16-0]184"
T T A 12 GA. GALV. STEEL BOTTOM T7-0]158" THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
: ' e e e m) . T Y
- QR INTERMATIONAL BUILDI )
. f#14x5,/8" SHEET METAL SCREWS. IMPACT RESISTANT REQUIREMEWT FOR WINDBORNE DEBRIS
o REGIONS (REF. CHAPTER 16 FBC/IBC)
o ALUMINUM EXTRUSION &
: e PORCoN, T ST
% A A 24 GA, MIN., STEEL EXTERIOR SKIN WITH
$ GALVANIZED, BAKED—-ON PRIMER AND A
BAKED—OM POLYESTER PAINTED TOP COAT.
13 GA. GALV. STEEL FLAG BRACKET.
Y[ EACH FASTENED TO WOOD JAMB WITH
Al A = i (3) 5/16"x1-5/8" WOOD LAG SCREW.
2 TRACK COMNFIGURATION
" 1/4"%3/4" F 316" MIN. MaY BE BACK-— )
7 7 7 3/16" MN— [TL/EX3/47 SELS S8 MNT I EiLLeD wiTH =
STEEL JAMB S e CONCRETE, BUT &
iy | A\ e NOT REQUIRED. S |||~ VERTICAL TRACK CAN BE EITHER BRACKET
ANGLE TO STEEL 1 MOUNT, CONTINUOUS ANGLE OR REVERSE
JAMB I ANGLE TRACK. ALL TRACK BRACKETS AND
: o = TRACK CLIPS ARE 12 GA. GALV. STEEL. - — -
1{5'{3;;: E&_‘Eg?Rg"[;'E-EL :"ELD & BRACKETS AND CLIPS ARE ATTACHED TO_wan.,. |
T AM ( IN.). TEEL JAM w TRACK WITH EITHER TWO 1/4" RwEJs ?JFE.
FaY A WELD TO BE LOCATED STEEL JAMBS T ! b el
: MAY BE BACK- -/ —12 GA. GALV. REVERSE  IyFRyICALLY ON ANGLE AT o o GHE NE 1/4" BOL =
OR CONTINUOUS ANGLE 2 12 GA. GALV. REVERSE E H T
FILLED WITH 24" CENTER AMD TACK 2 b
BOMERETE. Bl MOUNT TRACK FASTENED [We 0”70 OF ANGLE a7 OR CONTINUOUS ANGLE z =i
NGT REQUIRED DIRECTLY TO STEEL SAME EPABIIG MOUNT TRACK FASTENED B o i MOTE: DOUBLE TRAC QLG\!L
: JAMB. ; DIRECTLY TO STEEL JAMB. = (ve) HEADROOM, HI—LIFT T
- : 2,000 PSI MIN. COMCRETE WOOD Javgs 3/8%1=1/2" MIN : FOLLOW—THE —~ROOF -mm;x
4"[_ LOCK LOCATION — JAMB 3/8"1-1/2" MIN, EMBED LAG - 0 AND VERTICAL LIFT FRAGK'
OPTIONAL 24"x8" DSB ———=—* ATTACHMENT EMBED MASONARY SCREW. 1—1/8" 10 L ARE AVAILABLE OPTIGNS. 377
OR INSULATED CLASS {BOTH SIDES) L LUSTRATIONS ANCHOR, WASHER DiA. WASHER i H. TRACK ALSO AWMB% FLER
JIROw brce i REQ'D. 22" MAX. O.C. REQ'D. 24" MAX, R i T %
' Tr{JAs}TbEszafme i TO SECURE 2x6 0.C. TO SECURE . _
INSIDE ELEVATION JAMB TO COMCRETE 2x6 WOQD JamB
MOTE: THE F o ’ x £
STRUCTURAL ELEENTS ARE IHE NESPONSIBILITY I 3" MIN. EDGE DIST. T0 WOOD e LOCH BNBRGEY .-
OF THE PROFESSIOMAL OF RECORD FOR THE LONCRETE JAMBS WOOD JAMB STRUCTURE. DESIGN ENGINEER: MARK WESTERFIELD, P.E. INTO WERTICAL
BUILDING OR STRUCTURE AMD IN ACCORDANCE 2,000 PSI MIN. 12 GA. BRACKET OR OMN CONCRETE 12 GA. BRACKET OR FLORIDA P.E. #48495, NC P.E. #23832, TRACK. ONE
T TTEN) RUNGING S0 FORITE CONCRETE 4 /4"x1-3/4" MIN,| CONTINUOUS ANGLE CONTINUQUS ANGLE MOUNT | TEXAS P.E. #91513 LOCK ON
(4) #14x5/8" SHEET CHE T RRaGRET EMBED TAPCON MOUNT TRACK FASTENED TRACK TO 2x6 FASTENED | DESIGN LOADS: +25.0 PSF & —28.0 PSF EACH SIDE
METAL SCREWS DOUBLE HORIZONTAL FASTENER. WASHER WITH ONE 5/16"x1-5/8 WITH ONE 5/16"x1-5/8" TEST LOADS: +37.5 PSF & -42.0 PSF INSIDE SUDE BOLT
TRACK ; REQ'D. 227 MAX. LAG SCREW PER TRACK REW PER TR INSIDE SLIDE BOLT
LAG SCRE ER TRACK ORIGINAL DRAWNGS ARE SIGNED IN ELUE
Er.'ﬁ;LEGTSECURE ER“-CKET;CUP LOCATION, BR-&CKET}FCUP LOCATION. INK WITH A RASED SEAL (EMBOSS).
3 ANLF ACTURING PRODUCT CODE: RATING | Max DOOR SIZE:
Y CONCRETE 3" MIN. - MPC: C-DSIE-1F 447 e 12'2"W x 18'0"H
1 DOUSLE TRACK EDGE DIST. n a CLOPAY BUILDING PRODUCTS COMPANY [Gre .
LOW HEADROOM QPTION 12 GA. GALV. REVERSE - 8585 DUKE BLVD. 9/26,/96 DESCRIPTION:
(4) 1/4"x3/4" SELF OR CONWTINUOUS ANGLE L MASON, OH 45040 DRAWN BY: MODEL 3200/3220: +25/28 PSF DESIGM
TAPPING SCREWS MOUNT, TIAGH FASTENED Building Products S — i DRAWING NOMBER: VERSION
- CHECKED BY:
14 GA EMD HINGE 14 A, INTERMEDIATE HINGE JAMB. Company E:,Dmlmpwm i s B 101687 TDI




